Hlo

@ 5-3x=-3x+5

O —x+2x=x
® 2(x+3)

@)2x-1=1+2x

2x+ 6

2x =2

® 2(x-1)

1 olm2 AR SAolct

@ -1




x=-19 1, 3x(-1)-4%-1-8 (AA)
x=02 W, 3x0-4%0-8(AA)
x=19 1, 3x1-4%1-8(#AA)
x=29 1, 3x2-4%£2-8(AA)
wh2bA] Lobe S 7F gt




N ©

o) 45 FstH
12— (1-x) =4(2+x)
12-1+x=4x+38
3x=3

Lx=1




2x+3 2x-7

5 3

@ -16x - 26
16x + 44
@ 15

@ -16x+ 44
—-16x + 26
@—r=

—x—26

~&B

B2RE 15 2 BE5HH

2x+3 2x-7

-3(2x+3)—-5(2x—-17)

) 3

—6x—9—}8x+35

—16x + 2165
15




of" 2] A o] -3a+4b & HRHY a+2b 7F U} A oA 5a—4b
£ wjH?

® 9a-6b @—a+2b ® -3a+3b
@ 9a+2b ® 4a-b

A+ (-3a+4b)=a+2b

ZA=a+2b-(-3a+4b) =4a-2b

A — (5a — 4b) = (4a — 2b) — (5a — 4b)
=-a+2b




6. ax(-3)xaxbxbx(-1) & FAl 7125 At Uehw?

® -3ab? @ a*b?
® (-3a?) + (-b?) @ 3a’b?
® 34 + (-b?)

7*}% ”Jr‘ﬂ}l AR

g2 2= AFAEY &2

A oboll =2 1 2 ARttt

webA ax (-3) xax bx b x (-1) = 3a*b?




l—% | t°C & o], 37] SAA L] &89 £ 245 vm 2Hal 5HH
= 331+ 0.6r Q1 TAZF k. A9 o] 24 367Tm Y 19
1%% ToI71

®6°C @ 18°C ©®30°C @ 48°C @60°C

y = 367
367 = 331 + 0.6¢
0.6t = 36 .. t = 60( °C)




